MIAMI-DADE

MIAMI-DADE COUNTY
COUNTY _ PRODUCT CONTROL SECTION
11805 SW 26 Strect, Room 208
DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T (786) 315-2590 F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy
JB Garage Door, Inc,
12195 NW 98™ Avenue

Hialeah Gardens, FL. 33018

SCOPE: This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control
Section to be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHJ).
This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section (In
Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have this product or
material tested for quality assurance purposes. If this product or material fails to perform in the accepted manner, the
manufacturer will incur the expense of such testing and the AHY may immediately revoke, modify, or suspend the use of
such product or material within their jurisdiction. RER reserves the right to revoke this acceptance, if it is determined
by Miami-Dade County Product Control Section that this product or material fails to meet the requirements of the
applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Models 724/720 Steel Sectional Garage Door up to 10°-4” Wide x 18°High (DP +60.0,
-67.0 PSF)

APPROVAL DOCUMENT: Drawing No. 95-17, titled “Steel Overhead Garage Door”, dated 04/20/1995,
with last revision I dated 07/21/2014, sheets 1 through 5 of 5, prepared by Al-Farcoq Corporation, signed and
sealed by Javad Ahmad, P.E., bearing the Miami-Dade County Product Contro! renewal stamp with the
Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or logo, manufacturing address, model
number, the positive and negative design pressure rating, indicate impact rated if applicable, installation
instruction drawing reference number, approval number (NOA), the applicable test standards, and the
statement reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s side track,
bottom angle, or inner surface of a panel.

LIMITATION: This door has not been tested for air infiltration.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product, for
sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section of
this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 14-1014.07 and consists of this page 1 and evidence pages E-1 and E-2, as well as
approval document mentioned above.

The submitted documentation was reviewed by Carlos M, Utrera, P.E.

_ NOA No. 15-0812.16
M'AM'UNTY Expiration Date: April 4, 2021

Approval Date: October 15,2015
Page 1
o7 o218




JB Garage Door, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS “Submitted under NOA # 14-1014.07”
1.

Drawing No. 95-17, titled “Steel Overhead Garage Door”, dated 04/20/1995, with last
revision I dated 07/21/2014, sheets 1 through 5 of 5, prepared by Al-Farooq
Corporation, signed and sealed by Javad Ahmad, P.E.

TESTS “Submitted under NOA # 09-0212.10”
1.

Test Report on Tensile Test per ASTM E-8 of “Sectional Residential Door (skin)”,
prepared by Hurricane Engineering & Testing Inc, Report No. HETI 08-T180, dated
12/23/2008, signed and sealed by Candido F. Font, P.E.

“Submitted under NOA # 06-0705.09” ‘
Test report on Uniform Static Air Pressure Test per FBC, TAS 202 & Forced Entry
Resistance Test per SFBC, Section 3603.2 of Series 724 Garage Door, prepared by
Hurricane Enginecring & Testing Inc., Report No. HETI-05-1494, dated 12/16/2005,
signed and sealed by Rafael E. Droz-Seda, P.E.

Test report on Large Missile Impact Test per FBC, TAS 201 and Cyclic Wind
Pressure Test per FBC, TAS 203 of Series 724 Garage Door, prepared by Hurricane
Engineering & Testing Inc., Report No. HETI-05-1495, dated 12/16/2005, signed and
sealed by Rafael E. Droz-Seda, P.E.

“Submitted under NOA # 99-1203.01”

Test report on Salt Spray (Corrosion) Test per ASTM B 117 of a painted G-40 steel
panels, prepared by Celotex Corporation, Test Report No. 258592, dated 08/17/1998,
signed by W. A. Jackson, P.E.

CALCULATIONS “Submitied under NOA # 14-1014.07”
1.

Anchoring verification calculations prepared by Al-Farooq Corporation, dated
09/23/2014, signed and sealed by Javad Ahmad, P.E.

“Submitted under NOA # 09-0212.10”
Anchoring verification calculations prepared by Al-Farooq Corporation, complying
with F.B.C 2007, dated 01/21/2009, signed and sealed by Humayoun Farooq, P.E.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 15-0812.16

Expiration Date: April 4, 2021
Approval Date: October 15,2015



JB Garage Door, Inc,

NOTICE OF ACCEPTANCE.: EVIDENCE SUBMITTED

QUALITY ASSURANCE

1.

Miami-Dade Department of Regulatory and Economic Resources (RER)

MATERIAL CERTIFICATIONS -

1.

Notice of Acceptance No. 14-0311.08, issued to Insulfoam, LLC, for their

Insulfoam Expanded Polystyrene Insulation, approved on 08/14/2014 and expiring on
11/29/2017.

Notice of Acceptance No. 11-0926.07 issued to Dyplast Products, LLC, for their
Expanded Polystyrene Block Type Insulation, approved on 11/10/2011 and expiring
on 01/11/2017.

Notice of Acceptance No. 11-0926.06 issued to Dyplast Products, LLC, for their
Dyplast ISO-C1 Polyisocyanurate Insulation, approved on 11/10/2011 and expiring on
01/11/2017.

Notice of Acceptance No. 10-1129.04, issued to Cellofoam North America Inc, for
their Expanded Polystyrene Block Insulation, approved on 02/24/2011 and expiring on
02/24/2016.

STATEMENTS “Submitted under NOA # 14-1014.07”

1.

Statement letter of code conformance to the 5™ edition (2014) FBC and no financial
interest issued by Al-Farooq Corporation, dated 09/23/2014, signed and sealed by
Javad Ahmad, P.E.

“Submitted under NOA # 12-0113.04”

Statement letter of code conformance to 2010 FBC and no financial interest, issued by
Al-Farooq Corporation, dated 11/21/2011, signed and sealed by Javad Ahmad, P.E.

10/0‘7 /ﬂ 15

Carlos M, Utrera, P.E,
Product Control Examiner
NOA No. 15-0812.16
Expiration Date: April 4, 2021
Approval Date: October 15, 2015
E-2




GALY. STEEL e K—Q\,Egﬂ
1 OLER FINGE - 10P ROLLER BRACKETS T allii
: / 00 \ SEE SHEET 3 FOR DETALL e ol
7- ! e
N Pe a1 . —p - z ole
— ALTERNATE LOCK ; L W Oy Bl&
i 2/ DOOR IN(V \ o T 1 i % = & g,g;
AT (@) 17420 X 5787 < - - - e s E - al
o ~ 5/8"_, ) e N st ) Ee——r . :
BOLT & NOT ™ - , - . - [ 1 I i 6 Bl !
y . T = =z e ———— o 03 al
— : T >N
.\ \\ . e e —— e — —— N gj n. E § : i
, i (1) '§14 X 5/8" 3 R - g o 2
i | i SMS I . - ] S — }\ﬁ| 65 « | i
| ‘ \ N Q{'ﬁ-}\\ ) } — =0 - N ! OB 3| !
! 2 \ . e = e : A —F Ooun of !
| o \ “ N ‘J L/ ) I B L H " ) EE < G !
i n . S - e e — ! H
SPRING LOADED SUDE BOLT LOCK. (BOTH SIDES) 374 WX 3/167 THK. P 11 1 I g - — ' i) - ] 1 £ Qang § o
FASTENED W/ (4) #14 X 1/2" SMS. CH et _— S— P i e ———— I} - o g & 0?5 Bl !
5/8" MIN. LOCK ENGAGEMENT CONFORMS TO i . - - - N ! eIy qi3n gf |
FBC 1012 REGARDING GARAGE DOORS B . S ) pp—— - - T é Si ul® Bl Ludzd|
———————— P - = S == 1 _mg el
\ i e — ] — e e — 1 N 5 =l "3 1
=] |F : T ! = w0 z = o
3/16 X 3/4 GALV.—._ -, : L {00 : ZE 8l& <udzE k| )
VEEL LOCK BARS ~.1 11 i — + —r ‘gZ'-'J | ,,,7_‘_!_ EI' 'L—) A o L(__.:i_‘:\
N ! VY . ay = e mRSS
16 GA. GALY. STEEL HOUNTING e [ —— I — [ — e P z ! l
A o e e I
T BOLT e = T SN - e e—— T = = EETES ~ |0 L= i i
{ L3ck*wor! - - 'r’%“? e | 3 A |~ R ;
\ 7 o &
5 PIN . —1 b T : = - = 5, Z (O . !
CYLINDER LOCK 1 ; o —T i -- . & w olo 2
; I s - - - u oz o
s r! T . J'\ 7] i w ey 3
N -':-'_ i; E | = e T | ! N
ef L— INSIDE SPRING LA 1 i ! ) ﬁ ks & LELEJM
ICH i — | .. - | S - |
STENED \%G POUR B - — T - — - ) : | %10 N
10 X 1/2" sMs. - —— - — - | - - -—] i ~ 1010 T .
DIE CAST e = T | . f OFwn B
TEE HAMOLE N &8 I — . - —-- Lt — i .0 z &
— AR — = L,.—_if, = : ' ﬁ ] g g 1
g ~ B b3 IZlo " &
t ~ Elg=g 8
\ ] il;' g.(.‘) ud
—_ pem— = ' ol = &
128 DIA, GALV. AIRCRAFT TYPE i L —a L0 §
CABLE & NICO-PRESS SLEEVE ./ «~||®@ @ © [ 3" 31" i e
W/ MIN. 5 TO 1 SAFETY FACTOR - T 7 - NT P
~ MAX. DOOR WIDTH = 10'—4" i =
! Ly e . = - [
® o N \ : . g = | C—
6-1/2" X 4" x 0.1" i E%R o T W
STEEL PLATE L ‘
WITH (4) 1/4" X 5/8" BOLTS— \ © U INSIDE ELEVATION g
WITH 'NUTS AND e / 7-7/8" X 3-1/8" X 010" BiglElalg
(1) #14 X 5/8" sMs BRACKET —— STEEL PLATE , LN
STD. UFT DOOR BRACKET VITH (4) #14 X 3/4" SDS i‘J.B. DOOR MODELS: 10'—4"W X 18'H MAX c|Z|g[NRiR
LOW HEADROOM MODEL £5C T L8 18lale
DOOR OPTION DESCRIPTION...._._. ol | =125
'"724_ | 24 GA. ROLL FORMED STEEL DOOR Sig'flgeis
| 720 |20 GA. ROLL FORMED STEEL DOOR Qalzlaias
NOTE: MODEL 724 TESTED. = ]®: 2,512
)
PR EE
. - - o pied e e
THIS PRODUCT IS RATED FOR LARGE MISSILE 1MPACT| i e | BT e e in
' “— | MAXIMUM DESIGN LOAD RATING = + 60.0 PSF Blelainlo =]
. (FOR SIZES SHOWN QR SMWALLER - : ’_7'“"—___“__.))
¢ : ) 670 PSF | |5 7=
GENERAL _NOTES ) ‘ - el gt |
PRODUCT RENEWED 1. THIS PRODUCT HAS BEEN DESIGNED AND TESTEQ TO COMPLY WITH THE Fogr: JAND AHD Tally, | 2 |
a ing with the Florida REQUIREMENTS OF THE FLORIDA BUILDING CODE (FBC) FFTH EDITION (2014) FA. PE § 70502 PRODUCT REVISED : 3! z |z
Building INCLUDING HIGH VELOCITY HURRICANE ZONE (HVHZ). CAN. 3538 guﬁ’fﬂplrms wilh tho Flothdn | © | = {| . || L,
Acoeptaoce No (5-0f{2./6 2. ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETALS. Amd;ffmc"dm" oid o7 1 RN
ANGCHOR EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL IRt Explraii 2l 118 ) gy J'| T
DRESSING OR STUCCO. / R IS ALY
M 3. ALL BOLTS, NUTS AND WASHERS SHALL BE ZINC PLATED CARBON STEEL. i {i pAS E‘,; l’ drawing no. |
rchict Control 4, ANCHORING OR LOADING CONDITIONS OTHER THAN THOSE SHOWN IN SEP,,Z 2014 L Product Control | i
THESE DETAILS ARE NOT PART OF THIS APPROVAL. e S - 9517 1
H b (. [N S

5. A LOAD DURATION INGREASE IS USED IN DESIGN OF ANCHORS INTO WOQD ONLY.

sheet 1 of 5




i~1/4" X 2-1/2" X 14 GA.
GALY. STEEL CONT. ANGLE
FASTENED TO WOOD JAMBS

W/ 5/16 X 1-5/8" LAG SCREWS
(FULLY THREADED) |

HEX WASHER HEAD TYPE A

AT 3" FROM EACH END \

AND 127 0.C. MAX.

OPTIONAL STOP MOULDING
8Y DOOR INSTALLER

L

-

3 X 2 X .0527 THK.

01 FORMED STEEL END STILE
RIVETED TO SECTION SKIN
WITH (10) RNMETS

o

£
z 1\l -
—

Cr

1_.‘/2n

FOR CONNECTION OF V00D BUCK

TO MASONRY SEE NOTE ON SHEET 5
FOR CONNECTION DIRECTLY TO CONCRETE
SEE ALTERNATE DETAIL SHEET 5
CONNECTION TO METAL BUILDING TO BE
ENGINEERED ON JOB TO JOB BASIS.

1/4—20 X 5/8" HEX HEAD S
M.S. & LOCK NUT 4/ MINGE ™| ,

(4) 1/4 X 5/8°
BOLTS WITH NUTS

1/4" % 5/8" SM.S.

STEEL STRUCTURE BY OTHERS
MUST SUPPORT THE LOADS IMPOSEQ
Y DOOR SYSTEM

2/ HINGE—I
=

V\TL__

ity

"
~)

i T..wwmw.w

ROLLER HINGE —

N

I
]

2-3/4" X 2-1/4" X 14 GA.
GALV. STEEL CENTER HINGE

INTERIOR SIDE

SECTION _B-—8

o

17 % 2" X 14 GA, GALV.

STEEL
TRACK FASTENED TO TRACK PLATES

|
rA—a IT/U
T——

2-1/2° X 3-7/8" X 12 GA
GALV. STEEL TRACK PLATES @
12" 0.C. SPOT WELDED TO 14
GA. ANGLE

A A A A A
{

1.82" DIA. X 50" ROLLERS
W/ 43 DIA, X 4" STEM

w/ (2) 1/4-20 % 5/8" TRUSS HO.
SLOTTED M.S. & LOCK NUT

PRODUCT RENEWED

29 complying with the Florida
Budlding Code
Acoeptance No_15-0812. 16

By,
Mimmi Froduct Contel

Engr: JAVAD AHMAD PRODUCT REVISED
CiviL
FLA. PE # 70592
C.AN. 3538

SEP 9320 et

N

%) wmplymg wilh the Florida

T Eeptem
[

Product Control

A

—17J8)

|
1
\

_ GARAGENSS

FAX. (305) 262-6978 ||

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE

MIAMI, FLORIDA 33174

TEL (20S) 264-2100

|

1

—————

|

7J.B. GARAGE DOORS INC.

STEEL OVERHEAD GARAGE DOCR

HIALEAH GARDENS, FL. 33016

12195 N.W. 98 TH. AVE.
TEL (305) 558 — 1658

i

l

|
J

UPDATED FOR NEW TEST

REV. PER BCCO COMMENTS

UPDATED FOR 2007 FBC
NG CHANGE THIS SHEET o
NO CHANGE THIS SHEET

by {description

E |04.17.06
F |11.02.06
M 11,2111

07.29.14

(of date

Yrevisions:

I

5!!)!% i
1o i
,c],| )
S
«+

PenE i};
rEN2 T
cligli s )3
(WT
;__—

“sheel 2 of of §;




FORMED STEFL TOP RAIL
END CHANNEL
2-1/8" X 1-3/4" X 036"

034 ROLL FORMED - »if
STEEL BOTTOM RAL

PANELS FASTENED TO
HORIZ. RAILS W/

3/16 ¢ ALUM POP RIVETS
@ SPACING STARTING WITH

OISTANCE FROM EQGE OF
PANEL 2°,18",417,417,18%2" ]

21" OR 247
24" PANEL TESTEOD

|

TOP FIXTURE ROLLER GUIDE

14 GA, GALY, STEEL ADJUSTABLE
SLIDE FASTENED TO BRACKET W/
WO 5/16—-18 X 3/4" HEX HEAD M.
SCREWS & NUTS.

i LGALV STEEL

TOP ROLLER BRACKETS/FIXTURE BRACKETS
§5-1/2" % 2-3/4" X 3" % .09"

FASTENED ¥/ (4) 1/4—-20 X 5/8" HEX
HEAD M.S. & LGCK NUTS

1--13/18" DIA. ROLLER W/ TEN

1/4" HARDENED STEEL BALL BEARINGS

IN CASE HARDENED INNER & OUTER BRACES
7/167 DIA X 4" LONG HARDENED SHAFT

3/16" ¢ ALUM POP RNETS
© PANEL & VERT, STILES

OPTIONAL INSULATIONS:

B 'DYPLAST PRODUCTS LLC'

EPS—EXPANDED POLYSTYRENE
. DENSITY = 1.05 PCF

N.OA. f11-0926.07

CR

1S0-25 POLY—ISOCYANURATE
DENSITY = 2.0 PCF

N.OA. #11-0926.06

OR

Y AM NORTH Al
DENSITY = 1.03 PCF
N.OA. J10-1129.04
OR

Y " LF LLG"
DENSITY = 0.92 PCF
N.OA #14-0311.08

14 GA, GALV. STEEL
R(}LL(E#; HINGES FAST;NED
W/ (4) 1/4-20 X 5/8" HEX HEAD
M.S. gC

WMIN, 24 GA ROLL FORMED STEEL PANEL
ASTM 653. SQ QUALITY, GRADE 50
WIN. YIELD STRENGTH = 50 KSI

GALVANIZED ACCORDING TO ASTM ASZ5

\WITH A COATING DESIGNATION OF GSO0.
EXTERIOR AND INTERIOR,

11 GA. GALV, STEEL

BOTTOM BRACKET FASTENED

W/ (4) 1/4-20 X 5/8" HEX HEAD
M'S. & LOCK NUTS

WEATHERSEAL RETAINER
1-1/2" % 1/2" X 045"

__WEATHER SEAL
1" VINYL BULB

SEE SECTIONS AT RiGHT FOR LOCATION QOF REINFORCING TRUSSES

BOTTOM PANEL

FORMED STEEL TOP RAIL
— END CHANNEL
2-1/8° X 1-3/4° X 036"

|
|
|

L _ «(2) 3/16™ ¢ POP RIVETS

" - INTERMEDIATE STILES

/" 2-3/4" X 038"

2-1/4" X 3-1/4" X 1/2° % 036" THK.
GALV. STEEL U.BAR REINFORCING TRUSS
@ EACH DOOR SECTION TRUSS FASTENED
TO VERTICAL STILES WITH

TWO 1/4" X 5/8" SM.S.

AND TO END STILE WiTH

O 1/4-20 X 5/8"

HEX HEAD BOLT & LOCK NUTS

WEATHER STRIP
FASTENED W/ (2)
# 10 SCREWS

@ 36" O.C.

— (1) 3/16™ ¢ POP RIVETS

LL INTERMEDIAT N
TOP PANEL HAS NO REINFORCING TRUSS

24°H X 2-3/4"W ¥ .036 THICK
DIE-FORMED STEEL CENTER,
SYILE FASTENED VATH 3
ALUM POP RWETS TO
RAILS & PANELS

———(2) 3/187 ¢ POP RVETS

2-1/4" % 3-1/4" X 1/2° X 035" THX.
GALY. STEEL U.BAR REINFORCING TRUSS
@ EACH DOOR SECTICN TRUSS FASTENED
TO VERTICAL STILES YW

T™WO 1/4" X 5/8" S.M.S.

AND TO END STILE WITH

THO 1/4-20 X 5/8"

HEX HEAD BOLT & LOCK NUTS

16" DIA.
QRIZ.

SECTION D-D

END CAP IS ATTACHED TO END CHANNEL
W/ (2) 3/16" ALUM POP RIVETS INSIOE
& (1) 3/16" ALUM POP RIVET QUTSIDE

-(1) 3/16" ¢ POP RNETS

~— 036 DIE-FORMED STEEL CENTER

STILE FASTENED WITH 3/16° Db\.
ALUK POP RIVETS TO HORIZ
RAILS & PANELS

16 GA. GALY. STEEL CENTER HINGE
FASTENED W/ FOUR 1/4-20 X §/8°
HEX HEAD M. SCREWS & LOCK NUTS

PRODUGT RENEWED
28 complying with the Floridn
Building Code

S
Bx

By

M Product Control

Engr: JAYAD AHMAD
eIl
FLA, PE §' 70592
CAN. 3&533

ELS

*
i 3

,”SEP,% % 200

PRODUCT REVISED
as complying with the Florida
Building Code

Acceptuwe No %

Mm'nl 9&!0 Product Control

[

FAX. (205) 2626978

48)

SRR

L-FARQOOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

(MIAMI. FLORIDA 33174

1235 S\W, 87 AVE
TEL (305) 264-8100

A

NC.

TEEL OVERHEAD GARAGE DOOR
HIALEAH GARDENS, FL. 33016

12195 N.W. 88 TH. AVE.
TEL. (305) 558 — 1858

J.B. GARAGE DOORS |

Hf

)

NO CHANGE TWIS SHEET

REV. PER BCCO COMMENTS

UPDATED FOR 2007 FBC
NO CHANGE THIS SHEET -

UPDATED TO 2014 FBC

by description

07.21.14

11.21.11

£ [04.17.06

7 [11.02.c8

nel date
G l01.02.09

H
t

(revisions:

jﬂ
)
il

i
T2
8]| '

w
4
ro]
z
B
o

]
|
i
ey
S

!
|
|
i

sheet 3 of f 5 ;




FT. 1-1/4" 4" % 12 GA.
STEFL’ ANGVE TACER & SWAY

BRACE FASTENEO TO TRACK

vi/ 5/16 18 M SCREWS & NUTS

2 X 2 X 1/8" HORIZ, ANGLE

. 2-1/2" ¥ 1~1/4" X 14 GA,
GALY. CONT. STEEL ANGLE

—_—

-

N
\ JOINT BRACKET
v A-1/47 X 2-3/8" X .11
ATTACHED TO VERT. & HORIZ, TRACK
W/ (4) 1/4-20 ¥ 5/8" BOLT & LOCKNUT

AND TO VERT ANGLE
w/ (1) 1/4-20 X 5/8" BOLT & NUT

- & (3) SPOT WELDS TO HORIZ. ANGLE

1

!

|
N

2o

12" MAX. IN_DOOR OPNG.

18" MAX. ABOVE OPNG.
1
|

fle———0CALV. STEEL TRACK

OPENING HEIGHT

2-1/2" X 3-7/8" X 0.1” STEEL PLATES
CONNECTED TO TRACK WITH TWO
1/4-20 X 5/8" CARRIAGE BOLT & LOCK NUT

A

|

| S

DOOR TRACK AS VIEWED
FROM CENTER OF QOPENING

"DOOR | No. OF SECTION HEIGHIS  * i
{ HEIGHT {TRUSSES! { ST |2ND |3RDI4TH {STH 6TH|7TH {8TH; 9TH!
L_7__ 0" | 3 121"[217]21"]21" N/AIN/A N/A N/AEN/A
8’ 0" 3 24': 24| 24”;24" N/AIN/A- N/A} JAN/A
9'-0 4 [24"21" [217121" [ 21" N/A N/A N/AN/A;
100" 1 4 |24"247 24" 124" | 24" N/A'N/A:N/AN/A
11'=0" [ 5 ;24"[24"[21"|21" 21”'21“ N/A'N/AN/A
12'-0" | 5 124"}124" [24"[24" |24":24" N/A N/AN/A
13—-0" | 6 [24”[24"[247|21" 21"‘21" 21" N/AN/A.
H4'-0" 1 6 [24"[24" |24”|24" 24" 124" |2¢” N/AN/A
H8'~0" | 7 |247[24" 24”24”1217 121" 121" [21"N/A
Ne—0" | 7 [24"[24" 24" 24" 24" 24" 24" (24" N/A
17~0" | 8 [24"|24" 24" 124" 24" 2|"|21" '21"'21"
[18'=0" | 8 124"124" 24" [24"|24"|24" 24" 24" 24"

*—SECTIONS ARE NUMBERED STARTING AT THE EIOT[OM

! SPOT WELDED TO HORIZ, TRACK
! WITH TWO WELDS AT 1-1/2" APART

i FIRST AT 3" 0O.C.

REST AT 9" O.C.
HORIZ. ANGLE FASTENED TO CONT. ANGLE
W/ 3/B-16 X 3/4" BOLT & NUT

AND TO FLAG BRACKET ANGLE WITH

(2) 1/4-20 % 5/8" BOLT & NUT

7 0 BLDG, STRUCTURE

& W/ 5718 AL SCREHS OR GOLTS
gk 1/ |
G o /
42 i A= i
gd |/ I —

n
o & | HORIZ TRACK LENGTH = OPENING HEIGHT PLUS 2"
W

VERTICAL TRACK .~
2-1/8" X 1" X 080"~
SECTION A-A

SORINNRNNNNA

R N NSNS

NN

|

,
.

PRODUCT RENEWED
as complying with the Florkdn

Code
st
By

Product Cantrol

Engr: JAVAD ARMAD
CviL

FlLA. PE F 70592
C.AN. 3538

/SEP-2: 204

SN

77('_:‘—

VERTICAL LIFT HIGH LIFT  STANDARD UFT  LOW HEADROOM
AVAILABLE TRACK QPTIONS

PRODUCT REVISED
@ complying with the Florida
Building Cods

-
I

78J
GARAGENG5_17.8

FAX. (305) 262-69

AL-FAROCOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT

MiAMI, FLORIDA 33174
TEL (305) 264-8100

U

1235 S, W. 87 AVE

J
]

.B. GARAGE DOORS INC.

12195 N.W. 98 TH. AVE.

EL. (305) 558 — 1638

HIALEAH GARDENS, FL. 33016

J
T

('STEEL OVERHEAD GARAGE DOCR

[

)

NO_CHANGE THIS SHEET
REV. PER BCCO COMMENTS
NC CHANGE THIS SHEET

UPDATED FOR 2007 FBC

NO CHANGE THIS SHEET

by cescription

E |04.17.08
G [o1.0zce

H [11.21,11
07.21.14

el date
Sl

(revisions:

|

—

=

04--—20—"95 )

e o )

dr. by: HaMID

Ldatc:
[ o
e

a.
QA DUl GTILL SR
£, dle: ;
=]
& | .
p | \l LTI -
ol

PR

sheel 4 of 5,




WQOD FRAME BUIEDINGS

STUD WALLS OR DOOR OPENING (NOT BY J.8. DOORS)
SHALL BE FRAMED SOLID BY NOT LESS THAN

(3) 2%5 PRESSURE TREATED GRADE 2 SYF OR BETTER
WOoD STUDS.

STUD \WALLS 7O BE CONT. FROM FOOTING TO TIE BEAM.
ENGINEER OF RECORD TO VERIFY ADEQUACY OF THE
SUPPORTING STRUCTURE.

10 MASO

TRACK SHALL BE SECURED WITH CONT. STEEL ANGLE TO PRESSURE
TREATED 2X6 SYP WO0OD JAMBS WHICH SHALL BE ANCHOREQ TO
GROUTED REINFORCED MASONRY BLOCK WALL OR CONC. GOLUMN WiTH

1/4% ULTRACON B8Y 'ELCQ" WHTH SPACING OF

ID 0.C. INTQ GROUT FILLED BLOCK WALL, YATH 2~1/4" MIN. EMBED
" 0.C. INTO 3000 PS5l CONCRETE, WITH 1-3/4" MIN. EMBED

2 1/2" MIN. EDGE DISTANCE

I/4 TAPPER BY 'POWERS' VATH SPACING OF

7% 0.C. INTO GROUT FILLED BLOCK WALL, WITH 1-1/2" BN, EMBED
8" 0.C. INTO 3000 PSI GONCRETE, WITH 1-3/4" MiN., EMBED

3" MIN. EDGE DISTANCE

3/a" CONFLEX BY "ELCO" OR

3/8° LOT 8Y 'MW’ WITH SPACING OF

18" 0.C. INTO 3000 PSI CONCRETE, WITH 2-1/2" MIN. EMBED
3° MIN., EOGE DISTANCE

3/8" HLC SLEEVE BY 'HILTI' WITH SPACING aOF

11" O.C. INTQ 3000 PSI CONCRETE, WITH 1—1/4" MIN. EMBED AND
2-1/2" MIN, ECGE DISTANCE

THE BLOCK YWALL CELLS SHALL BE GROUT FILLED AND REINFORCED

VIATH FOUR § 5 BARS EXTENDING INTQ FOOTING AND INTO TIE BEAMS
ALL BARS SHALL BE CONTINUOUS FROM TIE BEAMS TO FOOTING,

BS oTl

B

N

LOCK OR* CONC. |,

4

.4

4

STEEL STRUCTURE BY OTHERS
— MUSTE SUPPORT THE LOADS IMPOSED

BY DOOR SYSTEM

5/16" U, BOLTS

MIN. EDGE DIST.

, SEE NOTES®
4

T

—-

o

]
!
+

| 2X6 MIN,

—SOUTHERN PINE
0.55 S.G.

i~ WiTH WASHER & NUT
AT 12" 0.C. MAX.

ANCHOR SPACING ’

ANCHORS

STRUCTURE i EMBED |5PAC]NG EOGE DIST

3/8" HLC SLEEVE BY HILﬂ_;’ CONC. | 1-1/4" [8-4/2" 3-1/2" _
T 3/8" CONFLEX BY 'ELCO° FILLED BLOCK! 2" Te- /271 3-3/4"
| 3/B" DYNABOLT BY 'W' © €CONC. i1-1/2";8- 17577 2-1/2"
~3/8" POWER—EOLT BY 'POWERS'| ~ CONC. 1 2- :i8-1/2'| 1-7/8"
'3/8" SLEEVE-ALL BY 'SIMPSONS" cONC. (1-1/2"[8-1/2" 23/2 |
CONCRETE f'c = 3000 PSI MIN.
/ C-90 GROUT FILLEO BLOCK Fm = 2000 PSI LIN.
rbsw__i
- ,>
1-1/4" X 2=1/2" X 14 GA
T GONT. STEEL ANGLE 1 -1/2*
_ 0.10" THK. GALV, STEEL FLAT ___
BRACKETS +3-7/8" LONG
AT 12" 0.C. IN DOOR OPNG.
AT 18" 0.C. ABOVE DOOR OPNG.
CONNECTED TO GONT, ANGLE
W/ (3) SPOT WELDS
TRACK LLATI
FRODUGT RENEWED Engr: JAVAD AHMAD
as with the Florids VL PRODUCT REVISED
Buitding Code FLA. PE § 70592 a3 complying with the Floride
Acoeptance No /57, 6 C.AN. 3538 Puilding Code
Acceplance No &
;'.--"‘ - .(ff Expim é
:ly(nn - y‘ By
Product Contral SEP 54201 Mi Product Conrol
i i

<
)

‘a
-

=

| GARAGE\G5—17.E

FAX. (305) 2626978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 23174

TEL (205) 264-8100

STEEL OVERHEAD GARAGE DOCR

B

DOORS INC.

GARAGE
HIALEAM GARDENS, FL. 33016

12195 NW. 88 TH. AVE,
TEL (305) 558 — 1658

(
iy

!
i

)

NO CHAMGE THIS SHEET
REV. PER BCCO COMMENTS
UPDATED FOR 2007 FBC
NO CHANGE THJS SHEET

UPDATED 7O 2014 FEC

by Idescription

11.02.06

E |04.17.06
G {01.02,09
H [11.21.11

07.27.14]

(revisions:
mol dote

i

|

=3
. ]
w )
—

04—20—95

lo: NONE

ate

(dote:
r__.... s et |
' Isca

ST
" drawing no.

| 9517 |

sheet 50f 6 }




